Thrifty King for Swine HG2

Part # 16259

Item | Part # | Description Qty Iltem | Part # | Description Qty
1 13775 | SS Hold Down Angles. (4/Pkg) 1 Pkg. 12 14866 | Weather Stripping 10 ft Roll 1
2 16324 | Hinge Rod — TKHG2 2 13 18219 | Drain #11 Plug Pkg. 1 Pkg.
3 18071 | ¥+-20 x %2 Truss Head Screw 6/Pkg. 1 Pkg. 14 16264 | Guard — Lid TK Hog 2
4 13613 | Float W/ Short Arm 1 Pkg. 15 16265 | Guard — Base TK Hog 2
5 12575 | %" Red Valve Pkg. 1 Pkg. 16 15155 | %20 x %2 Hex Head Screw 10/Pkg. 1 Pkg.
6 11515 | %" Valve Bracket Pkg. 1 Pkg. 17 16577 | Foamed Base 1
7 16266 | Lifting Lid-TKHG W/Guard 2 NS | 15930 | 3/8” Hose Clamp Pkg. SS 1 Pkg.
8 18066 | 10-24 x ¥ Hex Head Screw SS 6/Pkg. 1 Pkg. NS 12420 | Hose — 3/8" x 25 ft 1
9 18069 | 3/8"-16 x 1-1/4 Bolt SS 6/Pkg. 1 Pkg. NS 14859 | Pipe Insulation TK 1
10 18073 | 3/8” Flat Washer SS 6/Pkg. 1 Pkg. NS 16263 | Complete Accessory Pkg. 1 Pkg.
11 16267 | Access Cover TKHG2 W/Seal 1 NS 14261 | 3/8” Anchor Bolt SS-Not Included 2Pkg.

NS = Not Shown Italicized text = Not Included or optional configuration add-ons




